Calculators permitted.
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2. Use Sigma notation to write the sum: 3%5_2 i
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3. Use 3 middle rectangles to approximate the area of the region bounded by
fx) =x*+ 3, the x-axis, x = 1, and x = 6.
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4. Use the table of values on the right to estimate
the below:
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a. Use 3 left-handed rectangles with intervals indicated by b. Use 2 middle rectangles with intervals indicated by the

the table to estimate the area between the curve and x-axis table to estimate the area between the curve and x-axis
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¢. Use 3 right-handed rectangles with intervals indicated by d. Use 3 trapezoids with interval indicated by the table to
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the table to estimate area between the curve and x-axis on estinl;ate area t')etween the curve and x-axis on [0, 7]
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ot ition to find
5. Given the region bounded by g (x) =6 - x*, the x-axis, x = -1, and x = 2. Use the limit definition

: the exact area of the region. y/ " wildl . F (24 widdh L
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Find the most general antiderivative of h(x). (Fmd f h(x)dx)

7. h(x) = -2¢osx + Ssinx — 5cscxcotx
6h(X)=5x4—1T+2—J:+§§ (x)
/24. (58 Y'Qcosx + 5sinx - gcsc xco{xlx
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8. Find the most general expression of f'(x) if /"(x) = 4x3 —5x* +3x—6.

{ ) Iflfx?- 5 +3x-6 dX ()= j" - s B Gxe c ol

3 e
-P[x) 4x ;+¥-€X+C -F[x)_i;: %% %)8 gy e
“C&) Kq‘ —X+ XL el F&"i ?Jj 3x +Cx+l< I

9. Find the spec1ﬁc expression of £(x) if f(x) = [ g(x)dx, g(x) = 3x2 — 4x, and f(-1) = 2

ggxz_z-{)(w?%\ P]iir;jj;_a) B Tl C [_{,ﬁ): x?_o?x2+57

4 =-34¢c
3 2 l/ )
TN

3=C0-2(0)4¢




